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1) The central theme of Nyaya-siitra-states:

SARIDT DRI forerr T

[Question ID = 11113]

1. Anatman / gfeirca

[Option ID = 44446]
2. Dharma / est

[Option ID = 44447]
3. Atman / suea

[Option ID = 44448]
4. Karma / @dt

[Option ID = 44449]
Correct Answer :-
e Atman / smea

[Option ID = 44448]

2) The ‘six systems of Indian philosophy’ known as ‘sad-darsana’ consist of:

‘srrzctier gofer &5t B yonferil’ st B ‘ugcofer’ waard 3 & 31a 3

[Question ID = 11114]
1. Buddhism, Jainism, Nyaya, Carvaka, Vedanta, Yoga / dlg &, Slorers, ooirr, arafo, derod

[Option ID = 44450]
2. Sarnkhya, Yoga, Nyaya, Vaisesika, Mimamsa, Vedanta / iz, @ier, cerr, A9, s, dgoa

[Option ID = 44451]
3. Carvaka, Yoga, Jainism, Mimamsa, Samkhya, Buddhism / araiw, =1, Slorered, #isiar, iz, dlg ol

[Option ID = 44452]
4. Jainism, Carvaka, Yoga, Nyaya, Vedanta, Mimamsa / Soterel, amalm, M1 , IR, doled, et

[Option ID = 44453]

Correct Answer :-

e Sarmkhya, Yoga, Nyaya, Vaisesika, Mimamsa, Vedanta / i1, et ourr, A9, s, dooa
[Option ID = 44451]

3) Aphorism "Yogah Citta-Vrtti-Nirodhah" belongs to which chapter of Yoga Sutra:

Iqeie9] fora-gfer - forler: fva urg A dafoera 3

[Question ID = 11115]
1. Vibhuti Pada / fagfer-ure

[Option ID = 44454]
2. Samadhi Pada / 3mnfer-urg

[Option ID = 44455]
3. Sadhana Pada / zmeen-urg

[Option ID = 44456]
4. Kaivalya Pada / daca-ug

[Option ID = 44457]
Correct Answer :-
e Samadhi Pada / 3mnfer-urg
[Option ID = 44455]

4) Who is considered the Aristotle of India?

www.FirstRanker.com

[Question ID = 11116]
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Correct Answer :-
e Gautama / siiaet [Option ID = 44460]

5) In Being and Nothingness, Sartre has proposed that life with others is:

dIge1 3iiR aIfdivTorT 3 AT of ydama = 3 fop Rl & mer it

[Question ID = 11117]
1. Always blissful / ader smeifea xxaar 8

[Option ID = 44462]

2. Always very cordial / sator g 2iard yuf &
[Option ID = 44463]

3. Promotes my freedom / 33t Faddqar & agmar a1 &

[Option ID = 44464]
4. Restricts my freedom / 33t Jaddqer @1 yfewifira war 8

[Option ID = 44465]

Correct Answer :-
® Restricts my freedom / 33t Faddar @ yferifeia war 3
[Option ID = 44465]

6) For Merleau-Ponty, phenomenology is the study of

[Question ID = 11118]
1. History / sfterRr
[Option ID = 44466]
2. Essences / gciaca
[Option ID = 44467]
3. The world / 3R

[Option ID = 44468]
4. Others in my life / 3 Sfiaer 3 soer

[Option ID = 44469]

Correct Answer :-
® Essences / #ciama
[Option ID = 44467]

7) Which one of the following is not a kind of Abhava in Nyaya Philosophy?

IR & 391d I 1ol A Blol AT Tb YbR oidl 37
[Question ID = 11119]

1. Anyonyabhava / seaiteemsira [Option ID = 44470]
2. Atyantabhava / sicrearsma [Option ID = 44471]

3. Prayogabhava / gzierema [Option ID = 44472]

4. Pragabhava / gpwmsma [Option ID = 44473]

Correct Answer :-
® Prayogabhava / geitersira [Option ID = 44472]

8) The phrase “Will to Believe” is associated with which philosopher?

"ferergfaretla” arazior fipa groffora @ Arer ST F31I 3?7
[Question ID = 11120]

1. Jean Paul Sartre / Sfter dict 2] [Option ID = 44474]

2. William James / faférmr Swt [Option ID = 44475]

3. Edmund Husserl / wsdis g3ket [Option ID = 44476]

4. A JAyer / u3ramr [Option ID = 44477]

Correct Answer :- .
o William James / fiférmwt Swer [Option ID = 44475] www.FirstRanker.com
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1. Existentialist movement / sif¥dca arcl siigicter [Option ID = 44478]
2. The Idealists / sucofarct [Option ID = 44479]
3. The Logical Positivists / difforaser difSifefazczr [Option ID = 44480]
4. The Anarchist movement / sRsIAmarct sicictor [Option ID = 44481]

Correct Answer :-
e The Logical Positivists / ciifSier tifsifefereat [Option ID = 44480]

10) The two philosophers most closely associated with Logical Atomism were

difSraper wAf¥ica A AR et I3 o gioffors &

[Question ID = 11122]

1. A J Ayer and Gottlob Frege / u St 3rR 3ii2 sitecifa wst [Option ID = 44482]

2. Rudolf Carnap and Jean Paul Sartre / sicw wreifu iz Sfter diet 21 [Option ID = 44483]

3. Bertrand Russell and Ludwig Wittgenstein / a¢s et ik gsider ficslezersat [Option ID = 44484]
4. F Ramsey and Karl Jaspers / vw e 3ik @it sRiwei [Option ID = 44485]

Correct Answer :-
e Bertrand Russell and Ludwig Wittgenstein / ads et 3z gsider fdcslesersar [Option ID = 44484]

11) A fundamental tenet of logical atomism is that

aifies WRAIArG o ue I Rigia 3

[Question ID = 11123]

. The world consists of atoms / gforn wemy 31 wwoit 8 [Option ID = 44486]

. The world consists of facts / gform aezii 31 woft & [Option ID = 44487]

. The world consists of possibilities / gforr ismdensaii 3 @oft & [Option ID = 44488]
. The world consists of arguments / gform 3 ot @1 s & [Option ID = 44489]

A W N -

Correct Answer :-
e The world consists of facts / gform e 3 woft & [Option ID = 44487]

12) According to Ayer meaning of a sentence consists in

WRIR D HRAR TP ara=I oI 34

[Question ID = 11124]

1. Description of actual verification / arafde® et oI fdazvr [Option ID = 44490]

2. Description of actual falsification / arzafde féreermas2ur @t auier [Option ID = 44491]

3. Description of the possibility of verification / gt < 3istden @1 frazur [Option ID = 44492]

4. Description of the possibility of verification or falsification / Jicmuet =1 féreznasur &t Jfsrde a1 avfer [Option ID = 44493]

Correct Answer :-
e Description of the possibility of verification or falsification / et & freema2ur i dsmdet @1 quist [Option ID = 44493]

13) Which of the following groups of philosophers consists solely of logical positivists?

grolforat @ forgarferRaa aget 3 A Blet a1 aifddes smaanfet (logical positivists) @t 37

[Question ID = 11125]
1. Kant, Hume, Ayer / ®id, &, ®R

[Option ID = 44494]
2. Ayer, Quine, Davidson / ®R, aqarsel, SfsAet

[Option ID = 44495]
3. Ayer, Carnap, Schlick / wr, ®@wplu, Pod

[Option ID = 44496]
4. Schlick, Carnap, Russell / e, wrolu, 33t

[Option ID = 44497]
Correct Answer :-
® Ayer, Carnap, Schlick / wr, @6lu, Pow

[Option ID = 44496]

culprit:

FSIT T Blol AT Brgia sruzielt grr & o1 wifer & saaAnivEd-irstRaaket.com
[Question ID = 11126]
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Correct Answer :-
e Retributive theory of punishment / 3 @1 yfereiiencares @1 Brgia [Option ID = 44499]

15) The term used by Anaxagoras for the mind was:

IoTD 1Y TOITARIPIRA SRI YYTh 916G T:
[Question ID = 11127]

Eidos / wskr [Option ID = 44502]

Doxa / S [Option ID = 44503]

Logos / it [Option ID = 44504]

. Nous / gfg [Option ID = 44505]

A WN -

Correct Answer :-
e Nous / gfig [Option ID = 44505]

16) One of the most popular Atomists in Pre-Socratic tradition is:

i AfBfepuzust i JeR1 dioftR uavaieil i J e 3:
[Question ID = 11128]

Zeno / Sl [Option ID = 44506]

Democritus / 3affdgear [Option ID = 44507]

. Protagoras / qiemizar [Option ID = 44508]

. Anaximenes / sifoifdiorr [Option ID = 44509]

A WN =

Correct Answer :-
® Democritus / Safdger [Option ID = 44507]

17) Ramanuja believes in-

IS frarT o 3 -

[Question ID = 11129]

Svagata Bheda / zamra s 3 [Option ID = 44510]
Sajatiya Bheda / miiedlr 8t 3 [Option ID = 44511]
. Vijatiya bheda / fasirefter 8t 3 [Option ID = 44512]
. Vigata bheda / fde1a otc [Option ID = 44513]

N wN -

Correct Answer :-
e Svagata Bheda / zamm dig 3 [Option ID = 44510]

18) Vaisesika does not believe in-

AP oEl Ao T -
[Question ID = 11130]

Inference / sigpmmet [Option ID = 44514]
Upamana as independent pramana / 3usilel 0 ¥ddoc] Yauul @ 4 3 [Option ID = 44515]

Dravya / gea [Option ID = 44516]
God / @z [Option ID = 44517]

AW N =

Correct Answer :-
e Upamana as independent pramana / 3udilel B ¥ddoc] YvI @ 4 ai [Option ID = 44515]

19) Loksamgraha Concept is found in-

cAID2AsIE URIT STl 3 -

[Question ID = 11131]

1. Gita / after 3 [Option ID = 44518]

2. Buddhism / dtg gofer 3 [Option ID = 44519]
3. Jainism / Stet geler 3 [Option ID = 44520]
4. Charvaka / arafwmi 3 [Option ID = 44521]

Correct Answer :-
e Gita / sfiar 3 [Option ID = 44518]

20) Vaisheshikas believe in -

Jof FAre1al 3

[Question ID = 11132] www.FirstRanker.com
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Correct Answer :-
e 7 Padarthas / v ueref [Option ID = 44522]

21) For Descartes, even an evil demon with magical powers can't deceive one against the proof of

ord @ forg, wst ao 1 st ofRbRIl & AT Yb TP g glord off @I Nl ofdl S ADdAr
[Question ID = 11133]

self / ¥a=iar [Option ID = 44526]

motion / aifer [Option ID = 44527]

the solidity of a chair / v 1 & 31 srazen [Option ID = 44528]

extension of a table / fazarz [Option ID = 44529]

A WN -

Correct Answer :-
e self / =i [Option ID = 44526]

22) For Hume, causation -

gH D fere "orur”

[Question ID = 11134]

. Is dubious / 3iféser & [Option ID = 44530]

. Conditionally exists / Jreri & [Option ID = 44531]

. Transcendentally exists / 3aaraa & [Option ID = 44532]

. Certainly exists / forf2ia wu 3 sif¥aca at 2 [Option ID = 44533]

A WN -

Correct Answer :-
e |s dubious / 3ifgser & [Option ID = 44530]

23) The phrase ‘forgetfulness of Being’ is attributed to

ara=Iior " 6 scrorofierar’ fRpads grr = sk 3 -

[Question ID = 11135]

1. A. J. Ayer / B3l 3IRR
[Option ID = 44534]

2. Edmund Husserl / usais gzarct
[Option ID = 44535]

3. Martin Heidegger / sufdar sz

[Option ID = 44536]
4. J. P. Sartre / Sidt a1},

[Option ID = 44537]

Correct Answer :-
e Martin Heidegger / sufor ais3sre

[Option ID = 44536]

24) Particular ideas, according to Hume, are united by ____

A D ARIR 9y gt ___ gr1 Afdafera aa 3
[Question ID = 11136]

1. Computation / @swjerer / 3wt [Option ID = 44538]

2. Association / waf¥meret / 2ua [Option ID = 44539]

3. Inseparable connection / sifasrser 2ider [Option ID = 44540]
4. Mechanical contact / wifee 2uw [Option ID = 44541]

Correct Answer :-
® Association / wiif3meret / 3uw [Option ID = 44539]

25) According to Descartes, is a foundational, indubitable statement.

SADIEA D RIR, ___
[Question ID = 11137]
1. | have a body / 3R @ v 9Bk & [Option ID = 44542]

2. The world exists / gforn o1 si¥aca 8 [Option ID = 44543]

3. I think, therefore | am / 3@ 3liaer &, ai: & & [Option ID W Ran r. m
4. | do not think, therefore | am not / 3 ol dar &, ai: 3 olel & Ptlon Dt 4%545 er.co

U ek, RARIEr Dot 3




:I ~FiistRanker.com.

»
L
A Firstranker's ehaice T T
26) Perception according to Merleau Ponty is WWW.FlrStRan ker.Com WWW.FlrStRan ker.com

I D 3eRIR YeAel Silel &

[Question ID = 11138]
1. An act / vo orf 3
[Option ID = 44546]
2. Science of the world / 3R @1 fsiret 8
[Option ID = 44547]
3. Deliberate taking up of a position / fa=ft ug @I seur war 3

[Option ID = 44548]
4. Background from which all acts stand out and it is presupposed by them / dz ytosg SRR 218t BRI forerd 3 3l siiz Sl 28f yd #erar &

[Option ID = 44549]

Correct Answer :-
e Background from which all acts stand out and it is presupposed by them / ds ysosa SRR Jsft ®rf formerd 8 iR 3l it 2eft gd arowrar 8

[Option ID = 44549]

27) For Hegal, Master has self-approval due to

3oTcT B SRR, ARTI A 3MCH-ATGRA BXedl 3:
[Question ID = 11139]

1. His labour / 33 gt gt [Option ID = 44550]
2. His Slave / 33 a1 gra [Option ID = 44551]

3. His Idea / 3ad fare grr [Option ID = 44552]
4. Perception / yrast yomr grr [Option ID = 44553]

Correct Answer :-
® His Slave / 33 g1 grt [Option ID = 44551]

28) What kind of definition of technology has been given by Heidegger

BISI912 ol ddolicd &I fovar Yz & ufvermur & 3

[Question ID = 11140]

. Instrumental and anthropological / merer 3iiz amera fasimeft [Option ID = 44554]
. Teleological and sociological / smufora siiz Jemstencfizr [Option ID = 44555]

. Functional and psychological / wasriet 3l #eidsifeid [Option ID = 44556]

. Teleological and scientific / uf¥vmerarct aiiz dsufore [Option ID = 44557]

AW N =

Correct Answer :-
e |nstrumental and anthropological / et sz aimema fé=meft [Option ID = 44554]

29) According to Sartre:

Aref B 3refAR:

[Question ID = 11141]

. There is no human nature. / @5 e/ ¥qstd ot & [Option ID = 44558]

. Human nature has an essence. / aera &t yofer @1arR & [Option ID = 44559]

. Existence precedes existence. / sif¥dca AR A uscl 3er & [Option ID = 44560]

. Human nature is conceptualised in God’s mind. / direra Fasira $2a2 @ ot 3 sraemun 3 [Option ID = 44561]

AW N =

Correct Answer :-

30) Dharma according to Purva Mimamsa is;

ydafiatizn @ siopar et 3:

[Question ID = 11142]

1. A command that impels individuals to action / v suger Sit gt @bl @t Bl D fere Y¥a war & [Option ID = 44562]
2. Areligious injunction / ve enfife fafer [Option ID = 44563]

3. Arritual that needs to be performed / ue figaret SRIDB! B2ar smagees & [Option ID = 44564]

4. Aninjunction that rejects action / veb fafér st w1 forder awaclt 8 [Option ID = 44565]

Correct Answer :-

e A command that impels individuals to action / o 3ol Sit FigeI @I Paf Bl D ferw Yf3a waar & [Option ID = 44562]
""""""""""""""""""""""""""""""" www_.FirstRanker.com e

31) Kaivalya as liberation is advocated by which one of the following systems of Indian Philosophy?
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2. Purva Mimamsa / gdefisiien [Option ID = 44567] www.FirstRanker.com www.FirstRanker.com
3. Buddhism / &g [Option ID = 44568]
4. Samkhya / Jiz=t [Option ID = 44569]

Correct Answer :-
e Samkhya / ai=x [Option ID = 44569]

32) Matter as the ultimate reality is identified with

as Rigia sl siifere ucref @I sifeer Jca 3. Paarar 8 :
[Question ID = 11144]

1. Spiritualism / sre=nesrarg [Option ID = 44570]

2. ldealism / fsmerars [Option ID = 44571]

3. Materialism / siiferparg [Option ID = 44572]

4. Realism / sxqaic [Option ID = 44573]

Correct Answer :-
e Materialism / siiferoarg [Option ID = 44572]

33) Intuition as the source of knowledge is argued by

3ict: YSIT I Silel @ ATerel @ WU 3 FdDR o 3;

[Question ID = 11145]

1. M.N. Roy / a1 U1 3 [Option ID = 44574]

2. S.Radhakrishnan / w 3remewier [Option ID = 44575]

3. Rahul Sankrutyayan / 3get Aigerer [Option ID = 44576]

4. Debiprasad Chattopadhyaya / st tt agrureerrzr [Option ID = 44577]

Correct Answer :-
e S.Radhakrishnan / w31 Jrenaywrer [Option ID = 44575]

34) Sri Auribindo’s philosophy is identified with

Haft sRfde @I golel @wal Sl &

[Question ID = 11146]

1. Integral Yoga / scisyet et [Option ID = 44578]

2. Materialism / sitferasarg [Option ID = 44579]

3. Sahaja Yoga / ssriler [Option ID = 44580]

4. Supernaturalism / sifergaferaars [Option ID = 44581]

Correct Answer :-
® Integral Yoga / sciojet =ite1 [Option ID = 44578]

35) The author of ‘Buddha and His Dhamma’ is

‘g5 3R 3oImoT LA’ D ARAD 3t

[Question ID = 11147]
1. Dharmakirti / eefcbifef

[Option ID = 44582]
2. Vasubandhu / a3jeseg

[Option ID = 44583]
3. B.R. Ambedkar / dt. 3R srids®

[Option ID = 44584]
4. Jyotiba phule / Suiiferar et

[Option ID = 44585]

Correct Answer :-

e B.R. Ambedkar / dt. sm=. sidsaw2
[Option ID = 44584]

36) Which one of the following is the technique of Ahimsa according to Gandhi?

il o arapiD o renals Bt colar oft faffr 3
[Question ID = 11148]

www.FirstRanker.com
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Correct Answer :-
e Satyagraha / J=mejs [Option ID = 44586]

37) Vivekananda accepts one of the following positions regarding Maya:

RN D Aocsl I fdDIoic D GRIR TR AL 37

[Question ID = 11149]

1. Maya is unreal / #RI 3RId 2

[Option ID = 44590]
2. Maya is the source of unreal world / #RI 3RIA SOKT BT BRI &
[Option ID = 44591]
3. Maya is conceived as a fact about the nature of the world / SeIa & Fasa & ar 3 JRT O 7T 8

[Option ID = 44592]
4. Maya is the power of creator / @waf &t afeb &

[Option ID = 44593]

Correct Answer :-
® Maya is unreal / #Rm 3RIA &

[Option ID = 44590]

38) What according to Tagore is ‘surplus’ in man?

TINR D IR A A IRTRI &

[Question ID = 11150]

Universal and finite / ardsitar iz a1 [Option ID = 44594]
Infinite and Individual / sfia iz safes [Option ID = 44595]
Universal and Infinite / Jmdsiler stz sica [Option ID = 44596]
Universal and finite / ardsitar 3z sia [Option ID = 44597]

A WN -

Correct Answer :-
e Universal and Infinite / ardsilar afiz seica [Option ID = 44596]

39) The book An Enquiry Concerning the Principles of Morals is written by

siferedr @ Rigidl @ arR 3 sqarl gaad so @ grI ol o 8

[Question ID = 11151]
1. Kant / @wic

[Option ID = 44598]
2. Hume / &g@t

[Option ID = 44599]
3. Nietzsche / sficor

[Option ID = 44600]
4. Aristotle / 3r3q

[Option ID = 44601]
Correct Answer :-
® Hume / g#
[Option ID = 44599]

40) Who among the following argued for Justice as fairness?

WRZGIA @ WU 3 ARI b} adIcad faba of & efi?

[Question ID = 11152]
1. John Dewey / sifor gdt

[Option ID = 44602]
2. Jeromy Bentham / Siéit doela

[Option ID = 44603] www.FirstRanker.com

3. John Rawls / Sifor 3fcat
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Correct Answer :-

o John Rawls / Sifer 3ict

[Option ID = 44604]

41) Liberal theory is based on the principle of

IGRArt Rrgid... @ OrREI Uz smenfea
[Question ID = 11153]

1. Collectivism / Jmgars [Option ID = 44606]
2. Socialism / Ja#meiarG [Option ID = 44607]

3. Individualism / safeparg [Option ID = 44608]
4. Communism / JmarG [Option ID = 44609]

Correct Answer :-
e |ndividualism / =feparg [Option ID = 44608]

42) Who authored The Communist Manifesto?

DHgforc Jdfordcl.. of fermmn

[Question ID = 11154]
1. Stalin / Jeiferst

[Option ID = 44610]
2. Lenin / ciférr

[Option ID = 44611]
3. Marx and Engels / =t siiz gsicat

[Option ID = 44612]
4. Frantz Fanon / wjst Woilol

[Option ID = 44613]

Correct Answer :-
e Marx and Engels / saei 3k Gslcat

[Option ID = 44612]

[Question ID = 11155]

1. M.K. Gandhi / a1 @ siteft [Option ID = 44614]

2. B.R. Ambedkar / dt sme siigs@z [Option ID = 44615]

3. Rajaram Mohan Roy / It aiisar 31 [Option ID = 44616]
4. S. Radhakrishnan / w3 2rerwiet [Option ID = 44617]

Correct Answer :-
o B.R. Ambedkar / 1 sm siids®z [Option ID = 44615]

44) Who among the following is not a liberal thinker

forgotferR3aea 3 31 Biol IcrRar) foare bl
[Question ID = 11156]

. Locke / @i [Option ID = 44618]

. Kant / @ic [Option ID = 44619]

. Rawls / 3icz1 [Option ID = 44620]

. MaclIntyre / diwsocri [Option ID = 44621]

A W N -

Correct Answer :-
® Macintyre / diwsecrr [Option ID = 44621]

45) According to Kant, Enlightenment could not be understood by

Dic D eRIR, [PAD FRI MGG DI olél A SII ADAT &

[Question ID = 11157]

. Man’s emergence from self-incurred immaturity / ¥a=i &t smufsuadaar 3 sgi=r @1 3ga [Option ID = 44622]
. Affective side of human nature / smera yapfer @1 WWWW]CFEPS% ker.com

. Rationality of human beings / o=t &t difigapar [Option ID = 44624]

. Paternalism of the Church / ad @ fuqgea [Option ID = 44625]

A W N -
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$ARIG dfclol i@ 3:

[Question ID = 11158]

. Two concepts of liberty / Fadcar &t ot smaemumaii 3t [Option ID = 44626]
. Communitarianism / Iwygrr ars A [Option ID = 44627]

. ldealism / smgefars 31 [Option ID = 44628]

. Paternalism / firqars 31 [Option ID = 44629]

AW N =

Correct Answer :-
e Two concepts of liberty / Fadqer i &l siemomsii 3t [Option ID = 44626]

47) Dworkin has not discussed about

gdifesar of foreoifciRaa 3 A fdpadt aaf odt &6 37
[Question ID = 11159]

1. Equality of resources / Jizmesit &t Jamerr [Option ID = 44630]
2. Equality of welfare / cllo-wcamr &t 2w [Option ID = 44631]
3. Compatibility theory / siggaetar @1 RBigia [Option ID = 44632]
4. Luck egalitarianism / steer Jerarars [Option ID = 44633]

Correct Answer :-
e Compatibility theory / swaerar @1 Brgia [Option ID = 44632]

48) Which of the following is not an organ of state according to Kautilya?

DI B R Dol A DI 3007 otk 37
[Question ID = 11160]

. Danda / &s [Option ID = 44634]

. Amatya / swie [Option ID = 44635]

. Swami / zawh [Option ID = 44636]

. Varna System / auf [Option ID = 44637]

A wWw N =

Correct Answer :-

® Varna System / auf [Option ID = 44637]

49) “If Kautilya wrote a book, Kautilya is famous. Kautilya is not famous. Therefore, Kautilya did not write a book.” This
inference is an instance of

“afe lifec of v graed ferdl, dl difec glRig 3 wifeca yRig odl 3 sifdie, difecd of uvo fdpare odl ferxdl ” uIs sigperel foreatferlRaa a
feparemT 3cT820T 3

[Question ID = 11161]

. Disjunctive Syllogism / & Jgfded RiceilfSrmr [Option ID = 44638]

. Modus Tollens / #rs iciar [Option ID = 44639]

. Modus Ponens / #irs3 dloit [Option ID = 44640]

. De Morgan’s Law / @t difefar @1 forwt [Option ID = 44641]

N

A w N

Correct Answer :-
@ Modus Tollens / aisa1 éicizt [Option ID = 44639]

50) A contingent statement is

TP MBRAD BereT

[Question ID = 11162]

. Never true / @il 3 ot glar [Option ID = 44642]

. Never false / @it srie ot alar [Option ID = 44643]

. A tautology / v Adcistt giar 3 [Option ID = 44644]

. Sometimes true / msfi-msft I diar & [Option ID = 44645]

A W N -

Correct Answer :-

e Sometimes true / msfl-wpsft 2 der 8 [Option ID = 44645]

51) “The Dalai Lama believes in rebirth which is unscientific. Therefore, the Dalai Lama cannot be trusted about
anything.” This statement commits which kind of fallacy

[Question ID = 11165] www.FirstRanker.com
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Correct Answer :-
e Argumentum Ad hominem / smfiic us alfdowr [Option ID = 44656]

52) Eidetic Reduction by Husserl involves -

gxact &t Eidetic Reduction & onfirar 3 -

[Question ID = 11167]

. Ideal forms / smcof %u [Option ID = 44662]

. Variants in imaginative variations / @wcusnefier ®uiaz 3 féeotar [Option ID = 44663]

. Invariants in imaginative variations / @cuonfier ¥uiaz & smufsaderefictar [Option ID = 44664]
. Aesthetic forms / 3iicf %u [Option ID = 44665]

A WN -

Correct Answer :-
e |nvariants in imaginative variations / weucnfier ¥uiaz 3t smuf¥aderefictar [Option ID = 44664]

53) “One cannot know something without believing it.” This is an illustration of

“Rp21l Perel @l frart e e @ udl of&l ac Awdl 3 " U8 @ forsifeiRad 3 A el sorfar 3?7

[Question ID = 11168]

1. Modus Ponens / 3is3 digar [Option ID = 44666]

2. Modus Tollens / sis1 @izt [Option ID = 44667]

3. Aninformal fallacy / vo smeiluaifye 3camii [Option ID = 44668]

4. A statement made in epistemology / el aflstian @1 v weret [Option ID = 44669]

Correct Answer :-

e A statement made in epistemology / sirer #fiatizm T v @eret [Option ID = 44669]

54) “If Chanakya is dreaming that he is writing, then Chanakya does not know that he is writing. Chanakya is dreaming
that he is writing. Therefore, Chanakya does not know he is writing.” This is

"3PIR AIVIGRI AU 33 3T & b a6 fera a1 3, a avra=r @ oidl udr o5 as fora a1 & amra Auen 33 3 & s a6 fora @ 3 safee, amaa
créisiond fip as fera @ 8" A 3

[Question ID = 11169]

. An Invalid argument / vas 3ida aa [Option ID = 44670]

. A Valid argument / va de aa [Option ID = 44671]

. Not an argument / & orét 2 [Option ID = 44672]

. A contradiction / v® fRtemrt [Option ID = 44673]

A w N =

Correct Answer :-
® A Valid argument / v der aas [Option ID = 44671]

55) “Tables are made of atoms; therefore, a table is an atom.” This argument is the fallacy of

“TeT URAIY] A ol B 3; $AMCIY, TP URAIV] 3 " A8 AD (b ScdmiRA DI goridr 37
[Question ID = 11171]

1. Red Herring / 3s af3s1 [Option ID = 44678]

2. Ad Populum / smefdiea srs ufycta [Option ID = 44679]

3. Fallacy of Division / fsirstel @1 3carem=t [Option ID = 44680]

4. Fallacy of Composition / Rifsiel @I dranirt [Option ID = 44681]

Correct Answer :-
e Fallacy of Composition / 2Ritstel @1 acammi [Option ID = 44681]

56) Traditionally the laws of thought are:

1. law of non-contradiction

2. law of identity

3. law of contradiction

4. law of excluded middle

Choose the correct answer from the options given below:

RWRPI ¥4 A RIRI & DI 3:

1. 313 fARIemIRT @1 R

2. JIFUAI BT forra

3. frdemire o forma www.FirstRanker.com
4. afgsmpa #en @l forra

forgotferRaa 3 A ot a1 At 3:
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4. 1,3and 4/ 1, 3 3z 4 [Option ID = 44685]

Correct Answer :-
e 1,2and 4/ 1, 2 3iiz 4 [Option ID = 44684]

57) Which one of the following is not a correct symbolization of DNF:

forraiferRaa & A ®iet a1 DNF @1 A1d) yeliwrcas »u oidl 3:

[Question ID = 11173]
1. pvq
[Option ID = 44686]
2. (p.~q.r) v(-p.~-q.~r)
[Option ID = 44687]
3. (peq)vr
[Option ID = 44688]
4. -(peq) v-(per)
[Option ID = 44689]

Correct Answer :-

58) "My grandfather was a learned man". This is a

"I el uep Sell fth A U As v

[Question ID = 11176]

. Statement of fact / aencad @t 8 [Option ID = 44698]

. Non-moral value judgment / forifere dfc=meara fofar & [Option ID = 44699]
. Value judgment / grcanear fowkr & [Option ID = 44700]

. Relation of ideas / yrril @1 3wastr & [Option ID = 44701]

A WN -

Correct Answer :-
e Non-moral value judgment / forifere Fcercae fomfr & [Option ID = 44699]

59) Which of the following is false as per Aristotles’s concept of eudaimonia?

3R bl JSIEAIMRI Bl aeRuI @ 31elAR foroifeiRaa 3 A Blol AT DAGT IRI 3.

[Question ID = 11177]

1. Eudaimonia is a supreme human good / IJsis#iforn v JAdica #rod 3rcars 3 [Option 1D = 44702]

2. Eudaimonia consists in achieving greatest happiness of greatest number / Fstsaiiforn 3t siférasn I siférpae ke @ ferw & [Option ID = 44703]

3. In the state of eudaimonia people realize their capacities and are fully human / Jsts#iforn &t eifer 3 cilor ol greaasil a1 vaART B 3 3R g3 dvs A Aol
g [Option ID = 44704]

4. A eudaimon life consists of all intrinsically worthwhile actions / stsdte1 Sfiqet 9 foifda & @rife! AuiGe! e @ ¥4 3 Dol 3 [Option ID = 44705]

Correct Answer :-
e A eudaimon life consists of all intrinsically worthwhile actions / gsrseet Sfiqert 3 foifaa & ®rifm! JAurcel e @ Fu 3 @l 3 [Option ID = 44705]

60) Mill modified Bentham’s ethical theory by

fircror derat @ oifere Rigia o i feen

[Question ID = 11178]

. Rejecting utilitarianism / 3wifdidrarg @t sdiarR a2 @ [Option ID = 44706]

. Including a qualitative distinction between pleasures / ¥z @ dfa spnca® g A wd [Option ID = 44707]

. Making a distinction between general terms and singular terms / 3mwiree1 9rec! i vbadel orecl @ i v 91g ot @ [Option ID = 44708]
. Rejecting notions of obligation by employing logic / a@ RIS @20l D 3q SIRlcd @ faR! @I srdieRr @2 @ [Option ID = 44709]

A wWwN =

Correct Answer :-
e Including a qualitative distinction between pleasures / 3 @ da spnca® g Afdafeia awd [Option ID = 44707]

61) Which of the following would the utilitarian regard as wrong in all possible circumstances?

forgatfciiRaa 3 A dlor AT A9t Fnfaa uf¥-eferil & sunBramadt & R scaa slen?
[Question ID = 11179]

17 Violating SOMeone s T18NTs. /7 Il B JMTDRI I Scclilol ol [Upuion 1D = 447 10]
2. Performing an action that is not optimific. / v® b=t fipgem @2on Sl egraret odf 8 [Option ID = 44711]

3. Killing an innocent person. / uw Riglu ftp @I ol [OﬁNdNW=Elf§§Ran Ker.com
4. Maximum happiness to maximum number of people / aiférmast clisl @I siférpaet geft [Option ID = 44713]
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62) Whose belief was it that feeling cannot be WWNIbIIESERASIKBLER Mnoral actioVWUW el iSTRBNKRILKR B} duty

alone?

:I » EirstRanker.com. .o w: oo

fepr<hl e G et b sTo1 oiferm ®at B fere gun oidl 81 Awdl 3; Dac wdca @ 3q oifera @l b Sron anfae?
[Question ID = 11180]

1. G. E. Moore / Sft3. 3z [Option ID = 44714]

2. J. S. Mill / Steat B [Option ID = 44715]

3. Bertrand Russell / a&s 33t [Option ID = 44716]

4. |. Kant / am$. @ic [Option ID = 44717]

Correct Answer :-
e |. Kant / ams. @ic [Option ID = 44717]

63) What is a hypothetical imperative, according to Kant?

@ic D AR, TPD ulvna AME S (sEudAfecdarsiRid) aur 3?7

[Question ID = 11181]

1. A command of reason that depends on our desires. / v 39l St a3t scemil w2 forefz wear 3 [Option ID = 44718]

2. A command of reason that does not depend on our desires. / v@ 3ndar it sR! scomsll w fwk oét & [Option ID = 44719]
3. A principle of action that one gives to oneself. / vw suger it 3a w2 emer @ [Option ID = 44720]

4. A principle of action that one gives to others. / v 3nder ot Rl w2 e dlar & [Option ID = 44721]

Correct Answer :-
e A command of reason that depends on our desires. / ud 3nger Sl st seotall w fonfz w2ar & [Option ID = 44718]

64) Which ethicist argues for the equality of all animals?

Dlol AT ofiferonf eft SieraRl & AaToIaT & forw aas war 3?
[Question ID = 11182]

. Bertrand Russell / a&s 331 [Option ID = 44722]

. Kant / @ie [Option ID = 44723]

. Peter Singer / dies Bz [Option ID = 44724]

. Amartya Sen / swrt 3t [Option ID = 44725]

A w N =

Correct Answer :-
e Peter Singer / diez BR [Option ID = 44724]

65) Which one of the following philosophers has coined the term "Deep Ecology"?

forgarfeiRaa 3 A1 fopat croffors of "Shu-soleifsht” ug &t e & 3:
[Question ID = 11183]

1. Susan Moller Okin / Jsfet slier siifepet [Option ID = 44726]

2. Simone de Beauvoir / Rl ¢ gau [Option ID = 44727]

3. John Rawls / Sifar 3fcar [Option ID = 44728]

4. Arne Naess / 3l ori [Option ID = 44729]

Correct Answer :-
e Arne Naess / 3mf o1 [Option ID = 44729]

66) For whom is Pafichasila an essential part of ethical life?

P31 3RIR UcRilal oifer Sfiaer @1 v siforart 3= 3
[Question ID = 11184]

1. Gautam Buddha / siiqer g [Option ID = 44730]

2. Mahatma Gandhi / smsrean stielt [Option ID = 44731]

3. Kautilya / @mifecer [Option ID = 44732]

4. M. N. Roy / B war 3t [Option ID = 44733]

Correct Answer :-
e Gautam Buddha / sfias gg [Option ID = 44730]

67) Which one of the following is the correct meaning of 'Samvara' in the ethics of Jainism?

Siol Slifer-9IR] @ 3GRIR 'Haz ' @I A8l 3ref forgaiferRaa 3 A = 3

FQuestiomb—4+1+185%
1. Stopping the influx of karmas towards jiva. / Sfia 3 waf-usref @& seayars

bl ARt
www.FirstRanker.com
[Option ID = 44734]

2. Destruction of the impressions of karmas / @# @ DR DI oftc 8l Sllell
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4. Renunciation of the fruits of action / wit wer 3 ot WWW.FirstRanker.com www.FirstRanker.com

[Option ID = 44737]

Correct Answer :-
e Stopping the influx of karmas towards jiva. / Sfia 3 wél-ucref @ seadare o1 e

[Option ID = 44734]

68) The method of dialectical materialism is proposed by

Sotcae siiferparg &t guiredt fibads g & o1
[Question ID = 11186]

Hegel / &3ret [Option ID = 44738]

Kant / @ic [Option ID = 44739]

Socrates / Jm2a [Option ID = 44740]

Karl Marx / et st [Option ID = 44741]

AW N =

Correct Answer :-
e Karl Marx / et st [Option ID = 44741]

69) 'Bodhabodh Svabhav Samagri Pramanam’ is the definition of Pramana given by ___

gaHIUT bI af¥er 'Siendliel Fasrd ARRY YA SRI I SR

[Question ID = 11187]
1. Janism / Sat

[Option ID = 44742]
2. Mimamsa / dfistien

[Option ID = 44743]
3. Nyaya / orr

[Option ID = 44744]
4. Sankara / siwz

[Option ID = 44745]
Correct Answer :-
e Nyaya / RI=x

[Option ID = 44744]

70) E. V. Ramaswamy 'Periyar’ is popularly known for his identification with

. dl. JRarll UfRR’ forsiftiRaa d Rl J3ol & PRI fsard 37

[Question ID = 11188]
1. Self-Respect movement and Atheism / 3ica1- Jwatel 3liciciel B4 of¥daddIG

[Option ID = 44746]
2. Sarvodaya / dica

[Option ID = 44747]
3. Saiva siddhanta / dla Rigia

[Option ID = 44748]
4. Veerasaivism / dizdtaarg

[Option ID = 44749]

Correct Answer :-

e Self-Respect movement and Atheism / sict- 3916l 3iiciclol vd af¥3ddars
[Option ID = 44746]

71) Phenomenology as a philosophical study, focuses on

T SIffoId 3ERIGT B U 3 Wolldellciisll 3 Uz DA 3

[Question ID = T1189]

1. M hysics / arasfierzn .
etaphysics www.FirstRanker.com

[Option ID = 44750]
2. Moral conflict and freedom / siferep 3ferd siiz Faddgar
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4. Physical and material phenomena / siifere 3iiz aedera (mé%m\l)vdgnlerStRanker'C()m www.FirstRanker.com

[Option ID = 44753]

Correct Answer :-
® Experience / srgfsra

[Option ID = 44752]

72) John Rawls belongs to the political tradition of

SifoRIcA b ASTEIfeId URURT A I3 s
[Question ID = 11190]

1. Communitarianism / JgormaG [Option ID = 44754]
2. Conservatism / *fearg [Option ID = 44755]

3. Liberalism / 3grars [Option ID = 44756]

4. Marxism / ama=iaig [Option ID = 44757]

Correct Answer :-
e Liberalism / 3grarg [Option ID = 44756]

73) ‘Caste system is not a merely division of labour, but also a division of labourers’, is the statement of

g el fopa @I 3 : "SHfel sarazen A QI favirsior o18l, dvel 9fdiml o1 3t fasrsIes’
[Question ID = 11191]

1. Karl Marx / ot @i [Option ID = 44758]

2. MK Gandhi / ua &. siteft [Option ID = 44759]

3. B.R. Ambedkar / dft. 3. swds@2 [Option ID = 44760]

4. M.N. Roy / wa. woL. 3f1 [Option ID = 44761]

Correct Answer :-

® B.R. Ambedkar / . 3m=. swds®2 [Option ID = 44760]

74) Which of the feminist theory argues for significant connections between the oppression of women and oppression of
nature?

forrarferRaa & A ®lel A1 sidiardl Rigia Rl &bt yarsen ud ywmfer &t garsen @ e v Ascayyl AFdcel Ffird oar 37
[Question ID = 11192]

1. Socialist Feminism / J@smarct sidtars [Option ID = 44762]

2. Liberal Feminism / 3erarct aistars [Option ID = 44763]

3. Ecofeminism / wibReferbt sidtarg [Option ID = 44764]

4. Radical Feminism / 39 aidtarg [Option ID = 44765]

Correct Answer :-
e Ecofeminism / uil3Referbt aitarg [Option ID = 44764]

75) Who among the following has NOT given priority to an individual’s liberty over the social good?

forgatferRaa 3 3 b1l JAfpd T Bl ARID 9 A IfeUD Faar IS ?

[Question ID = 11193]
1. Kant / @wic

[Option ID = 44766]
2. Locke / ciiw

[Option ID = 44767]
3. Hobbes / gt

[Option ID = 44768]
4. Lenin / ciforor

[Option ID = 44769]
Correct Answer :-
® Lenin / aiforat
[Option ID = 44769]

. . . PRI N 1. Y

Bt 31 edtor 2 sivsr & ol 2 www.FirstRanker.com
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2. Kant - The concept of perpetual peace / ®ic - omeaa emlrStRanker'com www.FirstRan ker-com

[Option ID = 44771]
3. |. Berlin - Positive and negative liberty / 3. afefor - JIPRICGI® vd GIPRIHD Fadddr

[Option ID = 44772]
4. Herder - Absolutism / g2 - foremarg

[Option ID = 44773]

Correct Answer :-
e Herder - Absolutism / &s2 - forusmG

[Option ID = 44773]

77) Who said: “Enlightenment is man's emergence from his self-imposed immaturity”?

fep310l sl © "sirellcd HolwA I 3iIcA-3MRIftA sraf¥udadr A a1s? foracton 3”7
[Question ID = 11195]

Locke / @i [Option ID = 44774]

Foucault / we! [Option ID = 44775]

Hobbes / gfeat [Option ID = 44776]

Kant / @ic [Option ID = 44777]

AW N =

Correct Answer :-
® Kant / wic [Option ID = 44777]

78) Gandhi’s view does NOT include:
forgotferlRaa 3t A wlar 1 siieht @1 R ot 3

[Question ID = 11196]
1. The notion of trusteeship / ¢zifdra &t sremzom

[Option ID = 44778]
2. Capitalism / gSilarg

[Option ID = 44779]
3. De-centralization / fd@scia=ur

[Option ID = 44780]
4. Gram Panchayat / syemdaria

[Option ID = 44781]

Correct Answer :-
e Capitalism / gSftarg
[Option ID = 44779]

79) Who among the following is NOT a social contract theorist?
forgotfeiRaa & A Bletl AENRID AHFHAE! ot 3

[Question ID = 11197]
1. Thomas Hobbes / eifara1 diear

[Option ID = 44782]
2. Immanuel Kant / samgeet wic

[Option ID = 44783]
3. J.S. Mill / 3t var Brer

[Option ID = 44784]
4. John Locke / Sifor ciics

[Option ID = 44785]
Correct Answer :-
e J.S. Mill / 3t war forer
[Option ID = 44784]

80) If you don’t know P, where P is any statement, then it follows that

. www. FirstRanker.com
e sma P oY o1dl Sirera 3, Siei P uep araer 3, al 33 381 axar 3 :
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2. Pisfalse / P orica 3
[Option ID = 44787]
3. Either P is true or P is false / @ dl P 311 & =11 sRicx

[Option ID = 44788]
4. Neither P is true nor is P false / of at P i 3 of aricer

[Option ID = 44789]

Correct Answer :-
e Either P is true or P is false / =n @ P 31 2 a1 sRicr

[Option ID = 44788]

81) The standard definition of knowledge is that it is

Sitol <5t Ftors ufyermen 3:

[Question ID = 11199]

. True belief / v feart [Option ID = 44790]

. Justified belief / Jcenfua faeart [Option ID = 44791]

. Justified true belief / J~nfia 3 fdeart [Option ID = 44792]
. Self evident belief / Fa-Jenfta fdeart [Option ID = 44793]

A W N -

Correct Answer :-
e Justified true belief / Jufia i1 fdeary [Option ID = 44792]

82) Which of the following statements would be true for George Berkeley?

g D Ao A forger A A Dlol AT ATGRT AT BIo?

[Question ID = 11200]
1. It is possible for us to obtain knowledge of material world. / siiféra SoIT T Silot YT 2ol B e Ao &

[Option ID = 44794]
2. It is possible to attain knowledge only of the ideas about object. / aqaii @ far! o1 sirel Yra @2 o & R fere dora 2

[Option ID = 44795]
3. ldeas in the mind correspond to some external entity. / s#aR 3ol ® frarR fopt of bt arEe & =g A JAafSar = &

[Option ID = 44796]
4. Idea or thought about an object cannot give a complete knowledge about it. / f5ft a¥q @t yeerr = forar 331 avg @ ar 3 yul sirel ofdl & Adar

[Option ID = 44797]
Correct Answer :-
e |t is possible to attain knowledge only of the ideas about object. / a=qaii @ frarR! o1 sirel grd @2 off & 3R e dora &

[Option ID = 44795]

83) Descartes was unusual amongst rationalists in holding that

i 3o gfy aifSal A srcrer 3 ariifs ag moran 3:

[Question ID = 11201]
1. Mathematics was beautiful / aifdrd Joc2 8

[Option ID = 44798]
2. Mathematics was known by intuition / siford @ id:ysir 3y Slell ST Abr 3

[Option ID = 44799]
3. Mathematics could be false / aIford 3RIcT 8t apedt 2

[Option ID = 44800]
4. Mathematics had a deductive structure / sifora &t 3izder foprocad 3

[Option ID = 44801]

Correct Answer :-

e Mathematics could be false / a1forT 3R 8t Aot &
[Option ID = 44800]

is not a principle of connection among ideas
www.FirstRanker.com
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[Question ID = 11202]

84) According to Hume,
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Correct Answer :-
® Randomness / =mefesaar @1 [Option ID = 44804]

85) ___ argued for Asatkaryavada

SRACORIAIG JAlell 3

[Question ID = 11203]
1. Vishwanath / feeqerer ot

[Option ID = 44806]
2. Vacaspati Misra / arazufer o

[Option ID = 44807]
3. Buddha / gg o

[Option ID = 44808]
4. Ramanuja / st of

[Option ID = 44809]
Correct Answer :-
e Vishwanath / feqorer of

[Option ID = 44806]

86) '‘pramana as avisamvadi' is the definition of Pramana given by

"genvi sifdRiardl” ufdsmer ....gR1 & SR 3:

[Question ID = 11204]
1. Jainism / Sla

[Option ID = 44810]
2. Mimamsa / dfierzn

[Option ID = 44811]
3. Nyaya / &IRI

[Option ID = 44812]
4. Buddhists / aigi

[Option ID = 44813]
Correct Answer :-
e Buddhists / algr
[Option ID = 44813]

87) Arthapattiis accepted by ___

srerfufer @t FdioR oo srm:

[Question ID = 11205]
1. Prabhakar only / g2 gt

[Option ID = 44814]
2. Prabhakar and Kumarila / gsi? 3iiz @anfdet Sloll grRI

[Option ID = 44815]
3. Nyaya / &IRI gRI

[Option ID = 44816]
4. Carvaka / amaf® gri

[Option ID = 44817]
Correct Answer :-
e Prabhakar and Kumarila / gaira2 3iiz @iy cloll gRI

[Option ID = 44815]

88) The Buddhists accepted ]
www.FirstRanker.com
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aani/rq\EUfra “Eamr@a?enh(srfénanavyavastha) - .
[Option ID = 44818] www.FirstRanker.com www.FirstRanker.com

2. Viaparitakhyati / faudia x=mfer (Viaparitakhyati)
[Option ID = 44819]

3. Pramanasamplava / gz 3#cera  (Pramanasamplava)

[Option ID = 44820]
4. Alaukikakhyati / sieiifeoes Zeenfer  (Alaukikakhyati)

[Option ID = 44821]

Correct Answer :-
® Pramanavyavastha / gamr serazen (Pramanavyavastha)

[Option ID = 44818]

[Question ID = 11207]

1. Dignaga / f&sormet
[Option ID = 44822]

2. Sarvastivada / aif¥aarg
[Option ID = 44823]

3. Tsvarakrsna / $azaqmr
[Option ID = 44824]

4. Candrakirti / aogbifef

[Option ID = 44825]

Correct Answer :-
e Candrakirti / aogdifef
[Option ID = 44825]
90) ‘Scientific experiment never could show conclusively that there are no ghosts, therefore | strongly believe that ghosts
do exist’ is an instance of any one of the following:

“‘Aemforas grieT it off s o1l fowam A foo oIF ya o1dl 3, sAfe #y31 7o fmara 3 fob ya dise 37 forarferRaa 3 A a6 bt v T JerE0T
3

[Question ID = 11208]

. Ad hominem / =ifep @& Racw aw® [Option ID = 44826]

. Irrelevant conclusion / syRifSie forsase [Option ID = 44827]

. Ad ignorantiam / srstergerd giep [Option ID = 44828]

. Begging the Question / ama ciw [Option ID = 44829]

A WN -

Correct Answer :-
e Ad ignorantiam / sisiemgerad gfep [Option ID = 44828]

91) Name the fallacy in the syllogism All- IV

SIRRIRD 3 aoiciy T ol adcisA:

[Question ID = 11209]

Illicit minor / 3« 3Rt ug [Option ID = 44830]

Illicit major / sider 9ug [Option ID = 44831]

Exclusive premises / fadm smemzaraer [Option ID = 44832]
Undistributed middle / s arezug [Option ID = 44833]

A WN -

Correct Answer :-

e Undistributed middle / s sieziug [Option ID = 44833]

92) Analyse the following argument and decide:  For any x, if x is an A, then x is a B. x is not an A. So, x is not a
B

foratferRaa gfep o1 faea>uur o3 3k forofer ci:  fepefi x @ fere, afd x A 3, @i x B3 . X, Aol 3 safere x, B ordl 3
[Question ID = 11210]

Above is valid / 3wl da 2 [Ontion 1D = 448341
. Above is invalid / 3uge ada 8 [Option ID = 44835]

. Above is sound and valid / sugfes 2t & afiz der & [Option \RypAAR S| rstRan ker .com
. Above is Neither valid nor sound / 3w o & 3@t 2 siiz o & der 3 [Option ID = 44837]

A WN =
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93) A “dead” person is one whose brain funct¥¥¥¥VieVel pSHRABKE! 628, is an inst MV FAESFRANKRIWERM

:I » FitstRanker.com

U "gd’ afts a6 caft dar 3 KRt aliase orRl Ferfl u A &6 A S 3, el # A Td DI BT 3

[Question ID = 11211]

1. Lexical definition / =m=ncre ufdsmm [Option ID = 44838]
2. Stipulative definition / forerff¥a ufsmr [Option ID = 44839]
3. Précising definition / ygiuur uf¥smar [Option ID = 44840]

4. Theoretical definition / 3gifere uf¥smar [Option ID = 44841]

Correct Answer :-

94) Which of the following depicts the operation of Transposition in logic

forgotferRacd 3 A dlol A ad 3 ARSI & Hdiclol @I ol srI 3
[Question ID = 11212]
1. Po@=—-Qo—P

[Option ID = 44842]

2. P&Q =Q&P
[Option ID = 44843]

3. -(P&Q)= -Pv—Q
[Option ID = 44844]

4. (P zQ)&P] 20
[Option ID = 44845]

Correct Answer :-

* P =—05=P

[Option ID = 44842]

95) If Pis True and Q is False and R is False, then which one of the following is TRUE

afé P aea 3 3R Q 3rica 8 3iiR R srIca 8, Al forafeiRaa 3 21 dlol AT o6 A &
[Question ID = 11213]

1. po Q [Option ID = 44846]
2. poR
[Option ID = 44847]
3. Q>R
[Option ID = 44848]
4 pPS(Q&R)
[Option ID = 44849]

Correct Answer :-
®*QgoR
[Option ID = 44848]

96) If Pis True and Q is False and R is True then which of the following statements is TRUE

afe P zrca 3 3z Q sraca 3 31z R z1ca  al fowarfeiRaa 3t A ool a1 weret e 87
[Question ID = 11214]
1. P =3 Q
[Option ID = 44850]
2. ): 3= 0]
[Option ID = 44851]
3. Q b Q
[Option ID = 44852]
4 (P&R)DQ

[ﬁlnh'nn 1D = AARR'Z]

Correct Answer :- www.FirstRanker.com
°@>o¢Q
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Pﬁfgbpmtgpéﬂ'mﬂhg@ which one of the following is TRUE )
www.FirstRanker.com www.FirstRanker.com

afe P sraea 3 3iir Q Ica 3, Al forgor 3 A Pdlot AT A 3?7
[Question ID = 11215]
1. -PSP

[Option ID = 44854]
2. goF

[Option ID = 44855]
3. PSP

[Option ID = 44856]
4 @QP&Q)
[Option ID = 44857]

Correct Answer :-
® PP

[Option ID = 44856]

98) Which one of the following represents the correct translation of ‘Every student is both clever and ambitious’.

fowifeiRaa 31 21 pla AT 'YRI® I arcrd 3R Ascarmigl 3 ' B FB srgparc @I yfeforfirea war 3

[Question ID = 11216]
1+ ([(8x * €x) > Ax]

[Option ID = 44858]
2. (x)[(Cx - A%) 2 8x]

[Option ID = 44859]
3. @[(Sx > (Cx V Ax)]

[Option ID = 44860]
4 ((Sx 2 (Cx « Ax)]

[Option ID = 44861]
Correct Answer :-
¢ (®[(Sx o (Cx - Ax)]
[Option ID = 44861]

99) In a world comprising of a and b which of the following is logically equivalent to

‘(x)(Fx2Gx)’ and (ox) (Gxe~AXx):

a 3R b b gform 3 forgarferRaa 3 A dlor A1 A@zE U A '(X) (FXIGX)' 3R (ox) (GX o ~AX) & J_dea &

[Question ID = 11217]
1. (Fa 2 Ga)V(Fb o Gh)

(Ga « - Aa) V (Gbe ~ Ab)

[Option ID = 44862]
2. (Fa > Ga) «(Fb O Gb)

(Ga « ~Aa) V (Gbe ~Ab)

[Option ID = 44863]
3. (Fa> Ga) «(Fb D Gb)

(Ga » -Aa) + (Gbe -Ab)

[Option ID = 44864]
4. (Fa 2 Ga)V(Fb o Gb)

(Ga « ~Aa) «( Gb « ~Ab)
[Option ID = 44865]

COTTECT ATISWET -

[ ] .
(Fa > Ga) « (Fb > Gb) www.FirstRanker.com
(Ga » ~Aa) V (Gbe -Ab)
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Biv P2
Which of the following is correct about the above logical pairs designated as A and B

1.4 mplies B
2.Bimplies A
3.4 and B are equivalent

4. 4 and B are tautologous,
A~ (P2Q)

B:~Po2~0Q

& 31T B ¥ w0 # Tftd gwisy wifeea St & fAofEfaa 4 @ =59 @ w2 2

1. ABBIYRITUEA (mply ) B8
2. B ABIURTGET (mply ) T8

3. A &R B UG (equivalent) &
4, A 3R g WIOT (tautologous]) 8

[Question ID = 21507]

. Aimplies B / A B @I yferurcet (Imply ) @2t & [Option ID = 56022]

. Bimplies A / B A ot yferureer (Imply ) @3t & [Option ID = 56023]

A and B are equivalent / A 3liz B 3wigexr (equivalent) & [Option ID = 56024]
A and B are tautologous / A 3iz B 3aa=ie (tautologous) @ [Option ID = 56025]

A W N -

Correct Answer :-
® Aimplies B / A B @ yferurgar (Imply ) @2ct 8 [Option ID = 56022]

www.FirstRanker.com



